
JA-111  1 P.T.O. 

Seat No. :  _______________  JA-111 
January-2021 

M.A., Sem.-III 
504 : Psychology 

(Statistical Inference – I) 
 Time : 2 Hours]  [Max. Marks : 50          – I 42 

        : 
1.         0.05    

   : 14 
A1 () A2 () 

B1 () B2 () B1 () B2 () 
13 15 13 15 
12 16 14 16 
11 15 15 13 
12 14 14 15 
12 13 15 14 
13 15 12 15 
10 16 15 12 
12 15 13 16 
11 12 14 15 
10 16 12 16 

 2.              . 
           . 14 

   
80 – 84 3 2 
75 – 79 4 3 
70 – 74 7 5 
65 – 69 12 8 
60 – 64 15 10 
55 – 59 7 5 
50 – 54 6 3 
45 – 49 4 2 
40 – 44 2 2 

 60 40 
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3.      -       
 0.05    : 14  

    
21 0 
18 0 
19 0 
22 1 
23 1 
21 1 
20 0 
21 1 
19 1 
21 1 
19 0 
21 1 
25 1 
22 1 
20 1 

 
4.      R1(2, 3, 4)  : 14 
 r12 = 0.70, r13 = 0.52, r14 = 0.40 
 r23 = 0.60, r24 = 0.30, r34 = 0.28 
 
5. 100              : 14 

     
  – X 42 2.8 0.62 
  – Y 65 3.4 

 (1) Y   X,  X   Y     . 
 (2)     55 (X = 55)       (Y) 

  . 
 (3)     50 (Y = 50)       (X)  

 ? 
 (4)        . 
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6. -A (N = 10)  -B (N = 13)          
 .             
         . 14 
-A   12 38 26 18 22 32 20 10 34 8    
-B   48 18 39 59 26 46 36 51 42 62 34 42 56 

 
7. 10   8          .  

   .    - ‘U’   0.05  
               
   ?   14 

 14 16 15 20 23 19 16 5 8 10 
 12 11 4 9 18 13 17 7   

 
8.     -   0.05    

   :  14 
   
25 – 29 2 2 
30 – 34 3 2 
35 – 39 3 10 
40 – 44 9 12 
45 – 49 12 10 
50 – 54 17 4 
55 – 59 14 5 

    
      – II  
     : ( ) 8 
1.       -       . 

(/) 
2. 0.01      ()    . (/) 
3.     ________    . (/) 
4. ________      ( )    .  

 ( / )  
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5.                . 
(/) 

6. SST    ________ . (SST = X2 – N, SST = X2 – C) 
7. -    ________  . ( / ) 
8.   ________    . ( / ) 
9. -   p = 0.60   q = _________ . (0.50 / 0.40) 
10.              . (/) 
11.                 

   . (/) 
12.          . (/) 
13. Y  X    byx . (/) 
14. -      . (/) 
15.  U  U        . (/) 
16.        . (/) 

____________ 
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Seat No. :  _______________  JA-111 
January-2021 

M.A., Sem.-III 
504 : Psychology 

(Statistical Inference – I) 
 Time : 2 Hours]  [Max. Marks : 50         Section – I 42 

 Answer any three of the following questions : 
1. Carry out analysis of variance from following data and test the null hypothesis at 0.05 

significance level. 14 
A1 (Rural) A2 (Urban) 

B1 (Female) B2 (Male) B1 (Female) B2 (Male) 
13 15 13 15 
12 16 14 16 
11 15 15 13 
12 14 14 15 
12 13 15 14 
13 15 12 15 
10 16 15 12 
12 15 13 16 
11 12 14 15 
10 16 12 16 

 
2. The following distribution of score was obtained from college boys and girls on an 

achievement motivation test. Calculate Biserial correlation coefficient from this data 
and test the null hypothesis. 14 

Score Boys Girls 
80 – 84 3 2 
75 – 79 4 3 
70 – 74 7 5 
65 – 69 12 8 
60 – 64 15 10 
55 – 59 7 5 
50 – 54 6 3 
45 – 49 4 2 
40 – 44 2 2 

 60 40 
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3. Calculate Point Biserial coefficient of correlation from the data given below and test the 
null hypothesis at 0.05 level of significance. 14  

Test Scores Item Scores 
21 0 
18 0 
19 0 
22 1 
23 1 
21 1 
20 0 
21 1 
19 1 
21 1 
19 0 
21 1 
25 1 
22 1 
20 1 

 
4. Calculate multiple correlation R1(2, 3, 4) from following data : 14 
 r12 = 0.70, r13 = 0.52, r14 = 0.40 
 r23 = 0.60, r24 = 0.30, r34 = 0.28 
 
5. The following are the data obtained by 100 students on achievement test and aptitude 

test :    14 
 Mean S.D. r 
Achievement Test – X 42 2.8 0.62 Aptitude Test – Y 65 3.4 

 (1) Develop equations to predict X on Y and Y on X. 
 (2) Predict the probable aptitude score (Y) of a student whose achievement score is 

55 (X = 55). 
 (3) What will be the probable achievement score (X) of a student whose aptitude 

score is 50 (Y = 50) ? 
 (4) Calculate the standard error of both estimated values and draw inferences. 
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6. The recipients obtained score on an Ability test by group-A (N = 10) and group-B          
(N = 13) are as follows. Using a median test, examine the null hypothesis that both 
groups have been taken from a population whose median are the same. 14 
Group-A Scores 12 38 26 18 22 32 20 10 34 8 
Group-B Scores 48 18 39 59 26 46 36 51 42 62 34 42 56 

 
7. 10 boys and 8 girls were selected randomly. Achievement test was administered to 

them. Scores obtained by them are given below. From this data, test null hypothesis at 
level of significance 0.05 by Mann-Whitney ‘U’ test and clarify whether there is any 
significant effect of gender difference on achievement score ? 14 

Boys 14 16 15 20 23 19 16 5 8 10 
Girls 12 11 4 9 18 13 17 7   

 
8. Test the null hypothesis by using Kolmogorov-Smirnov test at 0.05 level of 

significance from the following data : 14 
Score Boys Girls 

25 – 29 2 2 
30 – 34 3 2 
35 – 39 3 10 
40 – 44 9 12 
45 – 49 12 10 
50 – 54 17 4 
55 – 59 14 5 

    
     Section – II  
 Answer the following questions : (any eight) 8 
1. The significance of differences between less than two groups can be determined by 

two-way variance analysis. (True/False) 
2. 0.01 significant levels can be called the most reliable (higher) level of significance. 

(True/False) 
3. Data is presented in a ________ form through descriptive statistics.  
 (Organized/Non-organized) 
4. The ________ is the number of observations that are (change the value) free or 

independent. (Degree of freedom / Null Hypothesis) 
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5. Parametric techniques are more efficient and successful in determining the real 
difference between the two means. (True/False) 

6. The calculation formula for SST is ________. (SST = X2 – N, SST = X2 – C) 
7. Biserial correlation method is a ________ method. (Parametric / Non-parametric) 
8. The null hypothesis is the hypothesis of having a ________. (relationship / significant) 
9. In biserial correlation if p = 0.60, than q = _________. (0.50 / 0.40) 
10. The null hypothesis is accepted when the table value is larger than the calculated value. 

(True/False) 
11. When the effect of one variable is eliminated finding a correlation between the two 

variables is called second order partial correlation. (True/False) 
12. In Statistics regression refers to the relationships between two paired variables. 

(True/False) 
13. The regression correlation of Y on X is called byx. (True/False) 
14. The Kolmogorov-Smirnov test is a parametric test. (True/False) 
15. If calculated U is smaller than tabulated U, the null hypothesis is rejected. (True/False) 
16. Median test is a parametric statistical test. (True/False) 

____________ 
  

 


